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WEST BENGAL STATE UNIVERSITY 

B.Sc. Honours/Programme 2nd Semester Examination, 2021 

CEMHGEC02T/CEMGCOR02T-CHEMISTRY (GE2/DSC2) 

Time Allotted: 2 Hours Full Marks: 40 

The figures in the margin indicate full marks. 
Candidates should answer in their own words and adhere to the word limit as practicable. 

All symbols are of usual significance. 

 SECTION-A 
Answer four questions taking one from each unit 

pেতয্ক ইউিনট েথেক একিট  কের িনেয় েমাট চারিট  pেűর উtর দাও 

 Unit-I 

1.  (a) Write four main postulates of kinetic theory of gases. 

গ°ােসর গতীয় তেttর মূল চারিট sীkিতর উেlখ কেরা। 
2

(b) Define mean free path of gas molecules. Write down its mathematical expression. 
How does the mean free path of a gas depend on temperature and pressure? 

েকােনা গ°ােসর গড় মুk পথ এর সংjা দাও। এর গািণিতক rপিট েলেখা। গ°ােসর গড় মুk পথ 
তাপমাtা ও চােপর উপর িকভােব িনভ�র কের ? 

1+1+1

(c) What do you mean by collision diameter of gas molecules? 

গ°ােসর অণুgিলর সংঘষ� ব°াস বলেত িক েবােঝা ? 

1

  

2.  (a) What do you mean by compressibility factor Z? Show graphically the variation of 
compressibility factor Z with pressure for real gases at a constant temperature. 

সংনম°তা gণক Z বলেত িক েবােঝা ? বাsব গ°ােসর জন° িsর তাপমাtায় Z চােপর উপর িকভােব িনভ�র 
কের তার েলখ অìন কেরা। 

1+1

(b) Calculate the van der Waals constants ‘a and b’ of oxygen gas. Given Pc = 49.7 
atm and Tc = 154.2 K. 

অিkেজন গ°ােসর ভ°ান ডার ওয়ালেসর rবক a এবং b গণনা কেরা। pদt Pc = 49.7 atm এবং 
Tc = 154.2 K. 

3

(c) What is Boyle temperature? 

বেয়ল তাপমাtা িক ? 

1
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 Unit-II 

3.  (a) Define coefficient of viscosity of a liquid. State its C. G. S. unit. What is fluidity? 

তরেলর সাndতা gণেকর সংjা দাও। এর িস. িজ. এস. একক েলেখা। pবাহমানতা বলেত িক েবােঝা ? 

1+1+1

(b) Liquid drops are spherical. Comment. 

তরেলর েফাঁটা েগালাকার। ব°াখ°া কেরা। 

1

  

4.  (a) Define surface tension and surface energy of a liquid. Write the relation between 
them. 

তরেলর পৃŸ টান এবং পৃŸশিkর সংjা দাও। এেদর মেধ° সmক� েলেখা। 

1+1+1

(b) What is the value of surface tension of a liquid at critical temperature? 

সংকট তাপমাtায় তরেলর পৃŸ টােনর মান কত ? 

1

  

 Unit-III 

5.   What are the different types of symmetry elements present in a crystal? Give 
example of any one type. What is liquid crystal? 
েকলােস উপিsত িবিভn pিতসাম° উপাদানgিল িক িক ? েয-েকােনা একিটর উদাহরণ দাও। তরল 
েকলাস িক ? 

2+1+1

  
6.  (a) Calculate the number of atoms in a unit cell of a face-centred and body-centred 

cubic lattice. 

একিট পৃŸ-েকিndক ও একিট েদহ-েকিndক ঘনকাকার sিটক জালেকর pিত একক েকােষ পরমাণুর সংখ°া 
গণনা কেরা। 

1 2
1 +1 2

1

(b) What are the Weiss Indices of a plane whose Miller Indices are (2, 1, 0)? 

একিট তেলর ওেয়ইs সূচক িনণ�য় কেরা যার িমলার সূচক (2, 1, 0)। 

1

  

 Unit-IV 

7.  (a) Write two differences between order and molecularity of a reaction. 

িবিkয়ার kম ও আণিবকতার মেধ° dইিট পাথ�ক° েলেখা। 

2

(b) What do you understand by pseudo uni-molecular reaction? Explain with suitable 
example. 

ছd একkম িবিkয়া কােক বেল ? উদাহরণসহ ব°াখ°া কেরা। 

2

(c) The half life of a first order reaction is 15 minutes. Calculate the rate constant and 
the time taken for 80% completion of the same reaction. 

একিট pথম kম িবিkয়ার অধ�ায় ু15 িমিনট। িবিkয়ার হার rবক ও 80% িবিkয়া সmূণ� হেত কত সময় 
লােগ িনণ�য় কেরা। 

2
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8.  (a) Write down the expression of temperature dependent Arrhenius equation on 
reaction rate explaining the terms involved. 

ব°বhত pতীকgিলর ব°াখ°াসহ িবিkয়া হােরর উŹতার উপর িনভ�রশীলতার আরেহিনয়ােসর সমীকরণিট 
েলেখা। 

2

(b) The rate of a reaction triples when temperature changes from 20ºC to 50ºC. 
Calculate energy of activation. (R = 8.3 J.K–1mol–1) 

েকান িবিkয়ার উŹতা 20ºC েথেক 50ºC এ পিরবত�ন করা হেল িবিkয়ার গিত 3 (িতন) gণ হয়। 
সিkয়করণ শিkর মান িনণ�য় কেরা। (R = 8.3 J.K–1mol–1) 

2

(c) Explain catalyst promoter and catalyst poison with suitable example. 

উপযুk উদাহরণসহ অনুঘটক উdীপক ও অনুঘটক িবষ ব°াখ°া কেরা। 

1+1

  

 SECTION-B 

Answer two questions taking one from each unit 

pেতয্ক ইউিনট েথেক একিট  কের িনেয় েমাট dিট  pেűর উtর দাও 

 Unit-I 

9.  (a) What is lattice energy? Using a cycle describe the formation of KCl crystal from 
potassium and chlorine. 
জালক শিk িক ? পটািশয়াম এবং েkািরন েথেক KCl েকলােসর গঠন একিট চেkর সাহােয° বণ�না 
কেরা। 

1+2

(b) Draw the structures of the following compounds on the basis of VSEPR theory: 
VSEPR তেttর সাহােয° িনmিলিখত েযৗগgিলর গঠন আঁেকাঃ 
(i) XeF4 (ii) BrF3 (iii) CF4 

2×3

(c) Explain the melting point order: 
গলনােìর kম ব°াখ°া কেরাঃ 
 NaCl > CaCl2 > AlCl3 

2

  

10.(a) What is meant by hybridization? Explain the structures of BF3 and PCl5 using this 
theory. 
সংকরায়ণ বলেত িক েবােঝা ? এই তেttর সাহােয° BF3 ও PCl5 অণুর গঠন ব°াখ°া কেরা। 

2+3

(b) Write down the molecular orbital electronic configuration of N2 molecule and 
hence find out bond orders in N2, N2

+ and N2
-. 

N2 অণুর আণিবক কkক (molecular orbital) ইেলক¹ন িবন°াস েলেখা। অতঃপর N2, N2
+ এবং 

N2
- -এর bond order (BO) িনণ�য় কেরা। 

2+3

(c) SnCl2 or SnCl4, which one is more covalent? 
SnCl2 ও SnCl4-এর মেধ° েকান ্  িট েবশী সমেযাজী ? 

1
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 Unit-II 

11.(a) Explain: 
(i) The 1st electron affinity of oxygen is negative but the 2nd electron affinity of 

oxygen is positive. 
(ii) Nitrogen is less electronegative than oxygen but the ionisation potential of 

nitrogen is greater than that of oxygen. 
ব°াখ°া কেরাঃ 
(i) অিkেজেনর pথম ইেলক¹ন আসিk ঋণাtক িকnt িdতীয় ইেলক¹ন আসিk ধনাtক। 
(ii) নাইে¹ােজেনর তিড়ৎ ঋণাtকতা অিkেজেনর েথেক কম িকnt আয়নীভবন িবভব অিkেজেনর েচেয় 

েবশী। 

2+2

(b) Compare the Lewis acidity of halides of Boron with proper explanation. 
উপযুk যুিkসহ েবারন হ°ালাইডgিলর লইুস-এর আিmকতার tলনা কেরা। 

3

(c) Size of K+ ion is smaller than Cl– ion although they contain the same number of 
electrons. — Explain. 
যিদও K+ আয়েন এবং Cl– আয়েন সমসংখ°ক ইেলক¹ন বত�মান, তবুও K+ আয়েনর আকার Cl– 
আয়ন-এর েথেক কম। ব°াখ°া কেরা। 

2

  
12.(a) Make a comparative study of N, P and As with respect to the following: 

(i) Oxides            (ii) Oxy-acids 
N, P এবং As েমৗল িতনিটর িনেmাk ধম�gিলর সােপেk tলনামূলক আেলাচনা কেরাঃ 
(i)  অkাইড সমূহ     (ii) অিkঅ°ািসড সমূহ 

2+2

(b) Give one preparation and use of hydrazine. 

হাই»ািজন-এর pstিতর একিট পdিত ও ব°বহার েলেখা। 

2+1

(c) What is ‘inert pair’ effect? 

‘িনিkয় েজাড়’ pভাব িক ? 

2

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 

 
——×—— 

 




